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The figures in the .mar.-qin' indicate
fuIZ mqus for the questions.

Answer either in English or.in Assamese.

- 1o Answer the following queéstions_: 1x5=5
OT PRI Ted il ¢ | |

(@) Which of the following is used as a
summary measure for a sample ?

©eTe BrHES (PG AfmR sifEEe ot
f2picet I=RE 9 =2 h
_ (i) Population parameter
b2 L
(ii) Sample statistic ‘

effermiq aforie

Contd.



(iii) population meap
xR WY

(iv) N.OI]C Of tl‘le above

@597 d0NS JEy

(b) A quantitative scale where there is a
true zero and equal interval between
neighbouring points is termed as

@ft ARSI AHT, T %R Ty SRS A
i ﬁﬂr@fm%wwww

o R
(i) Ordmal-_ scale ,»
TP WA
(i) Nominal scale
' Rk |
(iii Interval scaler :
IR0 SIM

(iv) Ratio scale

SIS it
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() Which of the fojjowing options is the
true example of primary data ?

OTS CHRS (ppept @EE I O UFE
T ?

(i) Journal / sywfE #A@
() Book / &g

@/ Census / foge

(iv) Newspaper / ISR FIFO

(d) Which of the following measures is not
influenced by extreme values?

OoT® GRS (HIHG! Tiv 5IN WS i} el

CEGE:
(i)  Arithmetic Mean
AR T
(ii) Geometric Mean
e gy

iit) “Median
TP

(iv) None of the abox}e
@sq Bl TEW
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TwoO differc nt dice arc rolled together-
what is the P'Obablhty that the sum of
the number's on the two dice is 57

ff fon 1 S WO 331 271 | 21 75 @otr
o el YOI QN 5 (g swifet o7

(€)

Ol

NI

(it)

(i) < |
(iv) None of the above

XL o5 @WW

A D P

2. Answer any ftve from the f0110w1ng
questions : _n - 2%5=10

,TWW ﬁmmaﬁmz emﬁm

(a) What are the d1fferent scales of
measurements of statistical data?
' In which of these measurements
mathematical operat1ons multlphcatlon
and division can be carried out?

- AR &ﬂ?@ﬁﬁmﬂ@ﬁﬁsﬁ??uﬂi,
- .*mﬂm%@s—mﬂmﬁ—ﬁﬁﬂwcﬁmvﬁq
‘.W iaqasﬁavnﬁ?
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Distinguish hetween variables and
attributes.

bR W ARER wie o9 @l

Write four sources of secondary data.

MY O 5175y Bt Tl

g) Distinguish between bar diagram and

histogram.
ST S TSfoad mw 9”2]’?1%7 %Rﬁl

(e) Distinguish between 1nc1u51ve and

‘exclusive’ types of class intervals. How
are ‘class boundarles ealculated from .
‘class limits’ ? ; el
THYS T S (T TR TS el
- TR | I A ca«’ﬁ“mﬁw e st
I AR ? |

() ~ Show that the algebraic sum of

I A o [ e e

' deviations of a set of values from their
arithmetic mean is zero.

medl @ T e Mo o ﬁiﬂ
WWW@W“EN
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_wind the ﬂ}edifﬁln from the following
frequency distribution : :

st il AT B ofay eyt e g |

x:12@45

f;2810‘73

(9)

() Find the standard deviation of the first
¢n’ natural numbers.

| gaw Bl TS TRUR N Roew W 711 |

i A tyré manufé;Cturi.hg company képt-a
record of the distance covered before a
tyre needed to be replaced. The table

- shows the results of 1000 cases :

Bt ‘SR &S T T AN 51 BN <
TR WABICS ST 1 799 Oy AEE I
IRt | 9o FARTFIRTS (STt 100051 TBAIT

T (TYEIRR ¢
Distance : ‘Lessthan 5000 to 10,001 to  More
(in kms) 5,000 10,000 15000  than 15,000

W9 (km)  50009% . 50009 10,0013 15,000
~ W 5R10,000 <@ 15,000 © @ @R

Frequency : 40 190 300 - 470
BICEGI G '
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If a tyre is bought from this company,
what is the probability that

AW GBI BRI @3 5wy ieB A =191 1l 22
(1 it will last more than 10,000km.
(BTSB! 10,000/km ©CF SIfET bl |
(i) it has to be replaced between
5,000km and 15,000km.
GRTB! 5,000km % 15,000km
| TS SIo| qsf%q AR

() - Con81der the p.m.f.
Tl o3 FECH! [ T4 ¢

. b ,
s =1)27.3: 4:
p(x)=157 % i

Find (R 390) :
() P{X=1 or (W) 2}

(ii) P{—_,12-<X<—25~/X;1}
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3. Answer any four from the following P
questions : 5x4=20- §E
wE] SPITRS Tl BIfIbra ©aa v 3

(aq) Write a brief note on the scale of
n.m.ﬁm-cmcnts of statistical data.
ARRUF SUI (T4 oA B «fp
5y (o ferdl| |

(b) Write a briet: note on merits and
demerits of primary data.

meeqwmeoﬁ—aﬁwm_
ﬁﬁnl | o

(c) In a study -~0;_iblood groups of 1000 |
males and 1000 females in a city, the §
following data’ were obtained :

42 T9RE 1000 WW 1000 ufReR oF

2iq G SIS weR OUFTEZ (AR AW 3

Blood Groups | Male Female

(% o | oS RIEG)

A 150 140

W | B 300 280
0,20 - 0 450 | 500
AZr AB 100 80
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(d)
N

Represent the total blood group
distribution with the help of 4
Pic diagram‘
B N2 foam wfamre E (TG BT 2G5
AIRCIT 9y

Calculate 9ess than’ and ‘more than’
cumulative frequencies against
appropriate boundaries from. the

following data :

OoT AR #fq1 Bfoe 2IffEs [Reies “srete

M OF OO TIET AT RIS Nl
Weight of insects R e ~
(n gms.) ' 21-30  31-40  41-50 51-60°
AR &G (W)
Number of insects  : 155 i 05 40 60
TR TRY! ' |

_ " - 1<
Weight of insects - 61-70  71-80 £
(in gms.) ; ' Lo s
AR GT (2 s L
Number of insects - 20 10 | JD gy
<o ] * 4
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(e) Find median and mode from the
~ following frequency distribution :

v il AT IV spz) g i
fQefy 41 8 =
29-50 51-’,, )
Class Interval : 0-10  10-20 20-30 39'%0 59“70
@ TR

Frequency 2 6 Lt 10 14 6

WIS

() The probability dens1ty function of a
continuous random variable X is given -

by L ARSI ;
4f wiifoes Afoe boTe X F Tl vy T
e ' |

kex? (1-—x3)4

| | - O<x«<l
f(x)={ ! 5

0 . elsewhere (Sl

where k is a constant.

TS k 96 4= |

1 (Sem-1) STA/G e 10




l?in(.i the value of k. Using this value of
k, find the mean and variance of X.
142+42=5

k3 SR Refy oy ) 2 1 TEA P 3114 01
AR Refyr oy '

(gl Give the agxiomatic definition of
probability function.
If A and B are any two events, then

show that _

iRl westae et
W A S B R 7o ¥4, (ST orgeAl
2y S TisiES . e B

P(AUB)= P(4)+ P(B)-P(ANE)
i aEY - 2+3=5

(h) There are two bags A and B. A contains
‘’ white and 2 black balls and B
contains 2 white and ‘n’ black balls.
One of the bags is selected at random
and two balls are drawn from it. If both
the balls drawn are white, what is the
probability that bag A is selected?

If this probability is <, find the value

of n. 3+2=5
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AW@B@HW'AE%’T’}WWWZ?F’W
= g I B O Tl @i St A 7
g @dd (A AT fifee 3R o
i {51 < ARSI Jieerg <5 2 | 2t gzl
ﬂ@fi@ﬁam@mzq G e
i il R

ﬂﬁﬂiﬂ@Tﬁ“T = CSCT. ‘n’J W [efg

4. Answer any one from the follovvmg

questions : - 10x1=10

WWWW@W@WM

(a) ‘Write a detaﬂed note on tabulatlon of

data mentioning 1ts types, rules and
precautions for tabulatlon _ |

AT, ﬁwmmmwﬁaﬁ
AR 8w élﬁ ﬁ@ﬁ— (o foril |

(b) In a study to test the effectweness ofa
new variety of manure, experiment was
performed in 50 fields and the following
results of yield per hectare (in quintals)

- were obtained : '
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A TG wifeg siaa 2ol AT @ff
ATNHS 50 (g 2lf6 (2T BeAMT
(TTTTS) Tpapspyy aremca (oAl 7 3

Yicld o 20-24 959 30-3 3539

TesiA
Number of fields 9 ¥ 3 8§ 12
(R Q] '

Yield M4 4549 50-54 5559

T
. Mumberoffilds : 16 5
Find (Refg ) :

(i) i the mean .

Mg

{zz} the variance
e
(i) the lst quartile
2 HpdT

13 Contd.
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fiv) (he 6th decile

ﬁp&, Im

(he 75th Percentile

(v)

A, B and C.ple'ly a game and the
chances of Winning it in an attempt

(c)

LT oraEeta
are %,-21‘ and 7 Tespectively. A has the

first chance, followed by Band then by
C. The CyC1€ is repeated till one of them
‘wins the game. Find their respective
chances of winning the game.
A, BEI® C (T <01 (3 (AT S 9D AR

-Z--LW;};IACEICWﬁW“iﬁm"ﬁW
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(d)  Two diee are rolled. Let X denotes the
random Varigble which counts the total
number of points on the upturned
faces. Constryuct a table giving the non-
“CrO values of the probability mass
lunction, Alge find the distribution
function of x.

T Teal Rews o 291 & WL vor
A QTR YHi evT© SR FRAR (lofre
PR FWIRol ©7 Fowd TN T2 Q20
ARN 15 = | wCF XTI B wom fefn

9 | L ' : |
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